QuEsTION 2 Circle the like terms.

a 3b, 5a, 9a b 4x, 5y, 6x ¢ 9x, 3a, 5x
d 9q, 3d, 6a e 8y, 3a, 3y f 3{ 5m, 5l
g 3d, 2c 5¢c h 9, 8x, 5x i 10y,y, x

QuesTion 1 Collect like terms to simplify the following.

a X+Xx+x+y+y= b m+m+m+m+n+n+n=
¢c a+a+a+a+a+b= d [+l+(+m+m+m=
e ete+tf+f+f+f+f= f ututut+vi+v+v+virv=

QuesTioN1  Add the following expressions.

a 3x+8= b 5x+11x =
c 9%+ 7x= d 18x +9x =
e 1l6x+ 25x= f 30x+ l4x+x=

QuUEsTION2  Subtract the following expressions.

a 6ba-2a= b 150 -7a=
¢ 8g-3a-= d 17x-2x =
e lém-6m-m= f 8-3y-y=

QuesTion4  Simplify the following expressions.

a  Sa+5+7a+9 = b 16-3a+7= c  8x+9x—x'=
d 9xyx6y= e 4x5xXx3y= f  —Sxx—6x=
g 8ab+Tab—-3ba= _______ h S5x—-9%+x=_ i (—3x) x(-6y) =

QuEsTIONS  Simplify.

a  3x(2a+4a)= b 5x(8x—5x) = C =3x(7a—3a) =

d (5a+3a)x2 = e (Qx+7x)x2x = f  (12a-10a)x3b =

g 8p+3xTp= h Sxx6y+3y= i 18p—-3x2p =



QuEesTioN 4 Simplify the following.

a Ox+3y-6x+2y= b 20a+3b+8b-1la=
c 6m+3n-n-m-= d 6x2-4x2-x2+3x2=
e 8a+3b+2b-6a= f 10a+4a-5b-b=

QuesTion ®  Collect like terms and simplify.

a ab+bc—ab-bc+ac= 9a’b —5ab® — 3ab® + 2a°b =

¢ 9x*+10x* —3x* = 19xyz + 6y + 4xyz —5y =

36a° +15b°% — 140 =

e 18xyz+15xyz — 4xy =

= = o o

g 8x'y +9x+4x°yt +6x = 9a° +8a° —3b° +6b° =




